%%~| CONE CLIMBER 1300

(AN TAY- CC05-CC1800-00

‘l‘gypmy EN1176-1:2017
EN1176-11:2014

111111

TAY- CC05-CC1800-00 1



35

35

35

L =—0>20 %D

V@ e (0

>

SW82252
SW82251
SW82061
SW82016
TAY-51212
SW82043
M8x100 A2 CSK SCS
SW81995
SW82026
SW81996

M8 A2 NYLOC
SW82232
SW82233

Mé6x25 A2

TAY- CC05-CC1800-00

8kg

3kg

12kg

kg

29kg

kg

3kg

kg

(s6 S14 (513 )
J .
<;3>J B |||
T \
FIH ©000
EN1176 m2 m?
1100mm 27.3 0.5
\ \ A J
(s15 S23 (s20 i )
I
© 0 |
& VW
74IP-8
I
LxWxH (m) !
59x59x1.8 T30H 8 X 24
\ \ A J
(s12
kg
bbkg




TAY- CC05-CC1800-00

SW82016

0

TAY-51212




S

SW82025

M8x100 A2 CSK SCS

SW81995

SW82026

SW8199%96

M8 A2 NYLOC

TAY- CC05-CC1800-00



90DEG

1766

|
5900

436

350

500
100

e

0.5m3
\(‘./ 30N/mm?
(A
TayplaY

TAY- CC05-CC1800-00



SW81995

SW81996

(s12

D

kg

30

TAY- CC05-CC1800-00

T

SW82043

SW82061

SW82016

TAY-51212

SW82251

SW82026



P
S22

o
N4
MNe——
\2_;
e
TayplaY

TAY- CC05-CC1800-00

M8x100 A2 CSK SCS

o

SW81996

M8 A2 NYLOC /

SW81996 \@
I




. T
| ]
(2(0) ()
o
o
o
=
N\
d D
o o
D L
(49 (e0}
L/
NNNNNNNNNNNN NNNNNNNNNANN
NNNNNNNNNNN NNNNNNNNNN
NNNNNNNNNN NNNNNNNNNN
NNNNNNNNNN NNNNNNNNNN
NNNNNNNNN NONN NN NN N NN
NONNNNNNNNN NNNNNNNNN
NNNNNNNNNNN NNNNNNNNN
any NONN N NN NN NN N NNNNNNNNN
I - - NNNNNNNNN
NNNNNNNNNNN NNNNNNNNN
NNNNNNNNNNN NNNNNNNNN
NONNNNNNNNN NNNNNNNNN
NNNNNNNNNNN NNNNNNNNN
NNNNNNNNNNN NNNNNNNNN
O NONNNNNNNNN NNNNNNNNN
NONNNNNNNNN NNNNNNNNN
O NNNNNNNNNNN NNNNNNNNN
L{) NNNNNNNNNNN NNNNNNNNN
NNNNNNNNNN NNNNNANANANNY
NNNNNNNNNNN NNNNNNNNNN
AN NNNNNNNNN NNNNNNNNNN
m NONNNNNNNNN NONNNNNNNNN
Ay NN NNNNNNANNN NNNNNNNNNN
AN AN AN AN T NN N A TN NN N AN N NN AN NN N NN NN NN NNNNNNNNNNNNNNNNNN
AANE AN AN N AN NN AT NN NN NN NN AN NN N NN NN NN NNNNNNNNNNNNNNNNNN
AN N N Y N N R N R Y N N N N N Y
AN AR NN N ANANNAE NN NRT RN ANNN NN NN NN NN N N NN NNNNNNNANNNNN NN NN\
AN AN A NN NN AN NN A LT AN AN T AN NN N NN NN AN NN NN N NN NNNNNNNNNNNNNNNNN
AATATLTUTLTLTALNNA LA NLT L ANN NN N AN NN NN NNNNNNNNNNNNYNNNN NN
X 1000 )
( D

TAY- CC05-CC1800-00



S22

001

058

l\\/i\
N NTF

4
IS Sl e ees
IS S e ees
s 77
s

NANANN

e
e
e

NN
AR

SIS s
s
R R R A A N A e ees
R R R R A A A A A e
R R R R N N N S NN A S e
R R R R N N N S NN A S e
R N A A S R

A N %
ssss s
SR
SR
srr0 20
ssss s
SR
| srr0 20
ssss s
ssss s
ssss s
SR
srr0 20
ssss s
SR
SR
SR
srr0 20
! ssss s
SR
srr0 20
ssss s
ssss s
ssss s
sss0 20
ssss s
SR

SW82043

90DEG

A
{4
°

1000

N
”

SIIIIIIIVII I IS IS I I I IS 7P 777 ~
VA AV avavayayd VA A AV AV AV AV AV AV A v VeV Ay vV eV eV v e
VA AV avavayayd VA A AV AV AV AV AV AV A v VeV Ay vV eV eV v e
R N N N Y
VA AV avavayayd VA A AV AV AV AV AV AV A v VeV Ay vV eV eV v e
VA AV avavayayd VA A AV AV AV AV AV AV A v VeV Ay vV eV eV v e
VA AV avavayayd VA A AV AV AV AV AV AV A v VeV Ay vV eV eV v e
VA AV avavayayd VA A AV AV AV AV AV AV A v VeV Ay vV eV eV v e
R N N N Y
VA AV Ay N v avd VA A AV av AV AV AV AV AV v d Ve s

7/

s srvrrgss ST a%
/

0S¢ 00S

TAY- CC05-CC1800-00



©)
Ll
o)
o
o~

SW82043

7 x 24h

0.5m?

30N/mm?

0S8

©-

1000

0S¢

Fan\
001 S7aRSY)
4
D
ﬁ/‘\/\ﬁ\
s 4 N T
IS /77
s s sl s ssrr0
IS /77
IS /77
s s sl s ssrr0
LSS SIS
R R R R N N A N P R4
R AR N P P s
AR AN N Y s ~
I \V
s rs s
IS e e
s s
IS a s
IS e e
s s
s s
s rs 2
s
s rs s
IS e e
s s
° sr0777 o
s 777 (@)
s s
IS a s O
IS e e —
s s
s s
s rs 2
s
s rs s
IS e e
s s
IS a s
IS e e
Fany
SIII LIS IV I I SIS ISP I ISP ISP I ~
SIS SIS SN
R R R R N N P 4
AR A AN s
R R R N A R N N P s
AR RN NN N N P s
R A AN s
SIS SIS SN
R A R N N 4
SISV SN LSS
9z %
D \V
N \d

10

TAY- CC05-CC1800-00



TAY- CC05-CC1800-00

90DEG

Cac

1
)
O
Lo
N
—
o
& =
Fany Fany
A% A%
AAARARARRRRRRAR R R R R RN ARRRRRRRRRRARRARRRRARARRRRN
AAALLANNANNNUNLNN AN AN NN N N N SN NN
AAAALANNANNNLANN NN AN NN N N N SN NN NN
AAAALANNANNNLANN NN AN NN N N SN NN
N S N N NN NN N NN N N N N N NN
AN N N N N NN NN N NN N N N SN NN NN
AN N N N N N N NN NN NN N N N SN NN NN
pany AANANLNNNNNNNNNNNN NN AAN R UNN N NN NNNNNNNNNNNY
(o NANNNNNANN (@)
NANNNNNNNANY ° NANNNNNNN
NNNNNNNNNNN NANNNNNNANN n
NANANNNNANN NANNNNNNNY o0
NANNNNANNNY NANNNNNNN (@)
SANNNNNNANANN NANNNNNNANY e
(@) NANANNNNANN NANNNNNNANN
S NANANNNNANN NNNNNNNNNN —
NANNNNNNNANY NANNNNNANN
N NANNNNNNNANN NANNNNNANN
NANANNNNANN NANNNNNNNY
NANNNNNNNANY
N N NNANNNNNY \\\\\\\\\\5
a NN NN SANNNNNNNY Pany
< AR AR <
NNNNNNNNNN NNNNNNNANN
NNNNNNANANN NNNNNNNANN
NNNNNNNNNN NNNNNNNANANN
NNNNNNNNNN NONNNNNNNN
NNNNNNNNNANN NNNNNNNNNN
ARTAULTLTUALTLNAALTANANANNNNNNNNNN NN N NNNNNNNNNNNNNNNNANANN

1000

J

D
Ny

11



SW82016

TAY-51212

[\,
TayplaY SW82251 SW82061
TAY- CC05-CC1800-00 SW82026 12



(s12 \ (s34
L 4
i - o
kg
35 2-3
\2_;
S
TayplaY

TAY- CC05-CC1800-00

SW82043







M8x100 A2 CSK SCS \

SW81995 \
=~
& N T
SW82026 // 2 /

} I
SW81996

M8 A2 NYLOC /

TAY- CC05-CC1800-00 15



TAY- CC05-CC1800-00

16



Tayplay Ltd
13A Riverview Business Park
Friarton Road

Perth Tel:
PH2 8DF Email:
Scotland Web:

TAY- CC05-CC1800-00

+44 (0) 1738 449 084
info@tayplay.com
www.tayplay.com

17



